POLICY GUIDELINES FOR MATHEMATICS PAPER
Paper Pattern and Distribution of Marks

Mathematics & General Mathematics SSC-I&II
The question paper is organized into following three sections, namely: "Section A, B & C": Questions posed may be text based or derived/unseen but in similar pretext and difficulty level as per the lessons taught in the course. Distribution of the questions with respect to cognitive domain within each section shall roughly be around 30 percent Knowledge (K), 50 percent Understanding (U) and 20 percent Application (A).

The Questions in these subjects should be designed in such a manner that no pet-definitions are asked or required from the candidates to be reproduced. Moreover the questions should be appropriately designed whilst keeping in consideration the time for thought-process (particularly in U and A Cognitive Domain questions) and the length of the subsequent text to be produced by the candidates. 
SECTION — A

This section consists of question number one with 15 compulsory structured part questions - Multiple Choice Questions (MCQs) of one mark each. These MCQs should preferably be designed in such a way that they cover the whole course taught. These MCQs should objectively test the understanding of the concepts of the candidates in these subjects.

SECTION — B

This section consists of question number two (02) with preferably 14 part questions – Short Response Questions (SRQs) of Four (04) marks each. The candidates are required to attempt (respond to) any Nine (09) SRQs for a maximum total of 36 marks in this section.

SECTION — C

This section consists of Five (05) Extended Response Question (ERQs) of 8 marks each. Candidates are required to attempt (respond to) any Three (03) of these ERQs as per their choice and convenience. These questions may comprise of two or more part questions each if deemed necessary by paper setter in order to balance out the distribution various concepts and knowledge areas from different Cognitive Domains taught in course. None of these part questions shall be of less than 04 marks.

Annexure for Policy Guidelines for Question Paper
Definitions and Disclaimer

Policy guidelines for paper setting vide Notification No.6-8/FBISE/RES/CC/918 dated 27 August 2019 have been conveyed for general information. Definitions of some terminologies and disclaimers are given in this annexure.

1. Definitions
I. Cognitive Domains
Cognitive domain refers to development of mental skill and acquisition of knowledge. 

In the questions papers developed by Federal Board of Intermediate & Secondary Education, Islamabad from hereon will be intended to test the following cognitive domains of the candidates:

· Knowledge:

Approximately 30% Question in each section

· Understanding:
Approximately 50% Question in each section

· Application:

Approximately 20% Question in each section

i. Knowledge (K)
Knowledge refers to the ability of the candidates to recall the learned or memorized information or data.

Examples

· A child reciting the alphabets of English

· Memorization and reproducing the dates and other facts etc. 
e.g. 
Pakistan came into being on 27th Night of Ramadan-ul-Mubarak. 

Related Verbs (Command Words)

Arrange, define, duplicate, label, list, memorize, name, order, recognize, relate, recall, repeat, reproduce, state etc.

ii. Understanding (U)
Understand (also called Comprehension) refers to ability of the candidates to comprehend (a set of) information and/or situation and provide his/her response to it accordingly.

Examples

· Performing analyses and illustrating the observations

· Comprehending the concepts of Social, Natural and Physical Sciences

e.g.
Discuss different types of noise and their impact on human health briefly.  
Related Verbs (Command Words)

Classify, describe, discuss, explain, express, identify, indicate, locate, recognize, report, restate, review, select, translate, rephrase, differentiate, compare etc.

iii. Application (A)
Application refers to the ability to use learned material in new and concrete situation to solve problems and/or to design a schedule or task.

Examples

· Performing analyses and illustrating the observations

· Comprehending the concepts of Social, Natural and Physical Sciences

e.g. Illustrate the similes and metaphors given in the poem Daffodils.
Related Verbs (Command Words)

Apply, choose, demonstrate, dramatize, employ, illustrate, interpret, operate, practice, schedule, sketch, solve, use, write etc.

II. Sections of Paper

There are three or four (03 or 04) sections in each question paper:

i. Section-A 

Contains Multiple Choice Questions (MCQs). All questions are compulsory without any external or internal choice. Usually comprises of 20% of total marks of the (theory if applicable) paper.

ii. Section B

Contains Short Response Questions (SRQ). Candidates may have external choice up to 33%. In addition to that internal choice may also be offered based upon model, content and/or nature of the subject. 

· This section may contain almost 50% of total marks in some subjects of the (theory if applicable) paper. 

iii. Section C

This section usually contains Extended Response Questions (ERQ). Candidates may have external choice in the questions. In addition to that internal choice may also be offered based upon model, content and/or nature of the subject. For ERQs it should contain around 30% of total marks in some subjects of the (theory if applicable) paper.

III. Choice

Sometimes the candidates are required to attempt a certain number of questions from a given pool or group of questions, it is commonly known as choice in questions.

There are two types of choices 

i. External Choice 

Whenever the candidates are required to solve (respond to) a certain number of questions from a given pool it is called external choice. This choice may be around 33% in a section. 

e.g.
1.
Answer any six parts in about 30-40 words each. 

(Out of eight questions)

2.
Attempt any eight questions from the following.

(Out of eleven questions)

ii. Internal Choice 

Whenever the candidates have to solve (respond to) a question mandatorily but they have an option within the question it is called internal choice.

e.g.
1.
Paraphrase any ONE of the following stanzas.

a. Stanza 1

b. Stanza 2

2.
Translate the following: (Some sentences for translation are 
given)

OR

Write a Dialogue between a beggar and a citizen

2. Disclaimers
I. The cognitive levels written in sample model paper are for explanation purpose only. In the actual question papers administered during examination shall not contain description of these cognitive domains.
II. Association of the cognitive domains is solely based on subject expert’s judgment and may be subject to errors and/or omissions.
III. In the class rooms and during teaching the candidates (students) need to be taught about the time management in accordance with allocation of marks to the questions.

	[image: image1.jpg]



	  Roll No: 

Sig. of Candidate:  _____________
	Answer Sheet No: 
______________ 

Sig. of Invigilator:
______________

	Federal Board SSC-II Examination

Mathematics Model Question Paper

(Science Group)


SECTION – A 

Time allowed: 20 minutes






    Marks: 15

	Note: 
Section-A is compulsory. All parts of this section are to be answered on the question paper itself. It should be completed in the first 20 minutes and handed over to the Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.


Q.1
Encircle the correct option i.e. A / B / C / D. All parts carry equal marks. 

i.
One solution of the equation 

, when 
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ii.
If 
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iii.
The third proportional of m2 and n3 is:

A.
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iv.
If y varies directly as x and y = 2, when x = 6, so find x, when y = 9.

A.
27



B.
3

C.
18



D.
12
v.
Resolution to partial fractions of 
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vi.
If 
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vii.
If a student got marks 82, 93, 86, 92, 79 and 75, then median for the marks is: 

A.
82



B.
84

C.
86



D.
92
viii.
If l = 56cm and Ѳ = 45˚, then value of r is:

A.
71.27cm


B.
69.27cm

C.
67.27cm


D.
65.27cm
ix.
What is the value of x in the figure? 
	A.
120˚



B.
150˚
C.
140˚



D.
160˚
	


x.
What is the radius of the circle in the drawn figure, if 
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xi.
What is the radius of the circle if 
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 and 
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	A.
6



B.
7

C.
8



D.
9
	



xii.
What is the value of x in the drawn figure? 
	A.
45



B.
3

C.
27



D.
19.8
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xiii.
For what value of x, two chords of lengths 8x – 4 and 5x + 2 intersect at the centre of the circle? 

A.
2



B.
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xiv.
What is the perpendicular distance 
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 between 


the chords 
[image: image39.wmf]AB

, 
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 as shown in the figure? 
	A.
12cm



B.
6cm
C.
36cm



D.
72cm
	


xv.
In-centre and circumcentre of a triangle coincide, the triangle is: 

A.
Isosceles


B.
equilateral

C.
scalene



D.
right triangle 

_______________

For Examiner’s use only:

	Total Marks:
	15

	
	

	Marks Obtained:
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	Federal Board SSC-II Examination 

Mathematics Model Question Paper

(Science Group)


Time allowed: 2.40 hours 





     Total Marks: 60

	Note: 
Attempt any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e. Sheet–B if required. Write your answers neatly and legibly. Log book and graph paper will be provided on demand.


SECTION – B (Marks 36)

Q.2
Attempt any NINE parts from the following. All parts carry equal marks.
(9 ( 4 = 36)

i.
Solve  
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ii.
Product of two consecutive even numbers is 80.


a.
If the smaller number is x then what is the larger number?


b.
Show that 
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c.
Factorize 
[image: image45.wmf]80

2

2

-

+

x

x



d.
Find the numbers
iii.
If y varies directly as x, find: 


a.
the equation connecting x and y.

b.
the constant of variation k and the relation between x and y, when x = 2 and y = 3. 


c.
the value of y, when x = 12


d.
the value of x, when y = 9
iv.
Resolve 
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 into partial fractions. 

v.
Let  A = {a, b, c}, B = {3, 4}


Let  f = {(a, 3), (b, 4), (c, 3)}


a.
Find domain of  f.

b.
Find range of  f.


c.
If  f be a function from A to B?


d.
If  f be a bijective function? 
vi.
The salaries of seven employees in rupees are as follows: 

43500, 46400, 50000, 48500, 44200, 47700, 41900.


a.
Find mean of the salaries.

b.
If  
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 denotes the mean salary then write a column showing values of (
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c.
Find variance of the salaries.


d.
Find the standard deviation of the salaries. 
vii.
If  
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 and terminal side of the angle is not in the third quadrant.

a.
Find the quadrant in which the terminal side of the angle lies. 

b.
Find the values of 
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c.
By using the values of 
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viii.
Prove that  
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ix.
Given 
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C = 120˚. Without drawing the actual triangle:


a.
Compute the length 
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b.
Produce 
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 to a point D, so that 
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 becomes perpendicular to 
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. Find the length 
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c.
Find area of the triangle ABC.
x.
Let 
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 be the chords of a circle with centre O having radius 5cm. 


a.
Find the length 
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b.
Find the length of 
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.


c.
Find the length 
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.
xi.
Two tangents drawn to a circle from a point outside it, are equal in length. Prove it. 
xii.
The internal bisector of a central angle in a circle bisects an arc on which it stands. Prove it. 
xiii.
Show that parallelogram inscribed in a circle is a rectangle. 

xiv.
Draw a circle of radius 4cm. Inscribe a square in the circle. 
SECTION – C (Marks 24)

Note:
Attempt any THREE questions. Each question carries equal marks.
(3 ( 8 = 24)

Q.3
If the roots of equation 
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Q.4
In a parallelogram ABCD, prove that 
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Q.5
Two chords of a circle which are equidistant from the centre, are congruent. Prove it.
Q.6
Two ships, which are in line with the base of a vertical cliff, are 120 meters apart. The angles of depression from the top of the cliff to the ships are 30˚ and 45˚, as shown in the diagram: 

	a.
Calculate the distance BC

b.
Calculate the height CD, of the cliff. 
	



Q.7
Draw two common tangents to two intersecting circles of radii 3cm and 4cm. 
* * * * *
Page 2 of 2
B





A





x





O





Q





60˚





P





C





A





C





D





3





O





3





B





Q





P





A





15





C





B





D





9





C





A





B





2x





O





5x-9





D





10cm





10cm





C





A





B





O





D





16cm





16cm





P





Q





10cm





30˚





D





A





B





C





120m





45˚








2

_1624949983.unknown

_1624954057.unknown

_1625314205.unknown

_1625315098.unknown

_1625315386.unknown

_1625318666.unknown

_1625318667.unknown

_1625318665.unknown

_1625315412.unknown

_1625315313.unknown

_1625315368.unknown

_1625315268.unknown

_1625315041.unknown

_1625315076.unknown

_1625314233.unknown

_1624954397.unknown

_1624954885.unknown

_1624955001.unknown

_1624955384.unknown

_1624955487.unknown

_1624955560.unknown

_1624955468.unknown

_1624955083.unknown

_1624954922.unknown

_1624954586.unknown

_1624954707.unknown

_1624954435.unknown

_1624954100.unknown

_1624954273.unknown

_1624954067.unknown

_1624951257.unknown

_1624952276.unknown

_1624953345.unknown

_1624954022.unknown

_1624953273.unknown

_1624951801.unknown

_1624951840.unknown

_1624951669.unknown

_1624950161.unknown

_1624951223.unknown

_1624951243.unknown

_1624950259.unknown

_1624950068.unknown

_1624950131.unknown

_1624950031.unknown

_1624949348.unknown

_1624949461.unknown

_1624949563.unknown

_1624949939.unknown

_1624949504.unknown

_1624949388.unknown

_1624949404.unknown

_1624949374.unknown

_1624949039.unknown

_1624949271.unknown

_1624949302.unknown

_1624949153.unknown

_1624948933.unknown

_1624948994.unknown

_1624948918.unknown

